Subject: Re: Subset of a structure?
Posted by Matthew Argall on Tue, 21 Jan 2014 01:33:52 GMT

View Forum Message <> Reply to Message

> help, (PM25_TOTAL.reports_GOOD).time_JS_GOODI[good_val _pm25]
>

> <Expression> DOUBLE = Array[719, 144, 5]
You posted my wrong solution twice... Phil's answer was the following:

PM25_ TOTAL.reports_GOOD[good_val_pm25].time_JS_GOOD

My solution (the one you posted) did not work because IDL truncates its indices, so basically you
got the scalar value (PM25_TOTAL.reports_GOOD).time_JS_GOOD|0] 719 times for each of the
good reports.
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